IDPWT([7..0] /DPWT[7..0]
/DPRD[7..0] /DPRDJ[7..0]
UP[7..0] pUT UPJ[7..0)

2

LPM_COUNTER

[PM_AVALUE=
LPM_DIRECTION=
LPM_MODULUS=
LPM_SVALUE:
LPM_WIDTH=14

0EQ0 WIRE

OCNT[13..0]
OEQ[15..0

LPM_WIDTH=14

1800 WRE

A1CNT[13..0]
1EQ[15..0

LPM_AVALUE=
LPM_DIRECTION=
LPM_MODULU:
LPM_SVALUE:
LPM_WIDTH=14

2E00 WIRE

2CNT[13..0]
2EQ[15..0]

oR:
CNTCLR NEUT CNTCLR CLRCNTR
MCLR MCLR
UPO updown
21mux dl
[DPWTO eql
/DPRDO v
UPO
MULTIPLEXER =
8
CLRCNTR
LPM_COUNTER
uP1 updown
21mux all
[DPWTL o eql
/DPRD1 v
UPL
MULTIPLEXER =
8
CLRCNTR
LPM_COUNTER
uP2 updown
J— 21mux Ll
— = eql}
/DPRD2 v
upP2
MULTIPLEXER =
8
CLRCNTR
LPM_COUNTER
UPS updown
IOPWT3 21mux dl
— = eqll
/DPRD3 v
UP3
MULTIPLEXER

aclr

LPM_AVALUE=

LPM_WIDTH=14

3£00 WIRE

3CNT[13..0]
3EQ[15..0]

CLRCNTR

ZEROO

ZERO1

ZERO2

ZERO3

[LPM_AVALUE=
LPM_DIRECTION=
LPM_MODULUS=
LPM_SVALUE=
LPM_WIDTH=14

LPM_COUNTER

WIRE

4EQO0 ZERO4

ACNT[13..0]
4EQJ15..0]

[LPM_AVALUE=
LPM_DIRECTION=
LPM_MODULUS=
LPM_SVALUE=
LPM_WIDTH=14

WIRE

5EQO0 ZEROS

S5CNT[13..0]
SEQ[15..0

LPM_AVALUE=
LPM_DIRECTION=|
LPM_MODULUS=
LPM_SVALUE=
LPM_WIDTH=14

WIRE

6EQO ZERO6

BCNT[13..0]
6EQ[15..0]

UP4 updown
21mux al
/DPWT4 A eql
/DPRD4 M
upP4
MULTIPLEXER =
L
CLRCNTR
LPM_COUNTER
UPS updown
21mux al
/DPWTS A eql
/DPRDS v
upPs
MULTIPLEXER =
i
CLRCNTR
LPM_COUNTER
UP6 updown
21mux all
/DPWT6 eql
/DPRD6 v
V3
MULTIPLEXER =
L
CLRCNTR
LPM_COUNTER
UP7 updown
IOPWT? 21mux al
————— A edll
/DPRD7 M
upP7
MULTIPLEXER

aclr

LPM_AVALUE=
LPM_DIRECTION=|
LPM_MODULUS=
LPM_SVALUE=
LPM_WIDTH=14

WIRE

7EQO0 ZERO7

7CNT[13..0]
7EQ[15..0]

CLRCNTR

—OCNT[13.0]  outeur —— (CNT[13.0)
—ICNT[13.01  oumeur —— 1oNT(3.0
—2CNT[13.01  oureur —— 5eNT[13.0
—3CNT[13.01  oureur 5 3cNT(13.0
—4CNT[13.0]  outeur 5 4CNT[13.0)
—SCNT[13.0]  outeur —— 5CNT[13.0)
—BCNT[13.0] _outeur —— CNT[13..0
—ICNT[13.0] _outeur —— 7eNTa3.0
—ZEROIZ.0l__aureur  —— 7gro[7..0]
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